True False
X[1]<=3.41 X[0] <= 510.0
entropy = 0.98 entropy = 0.73
samples = 173 samples = 147
value = [101, 72] value = [117, 30]
X[0] <= 730.0 X[2]<=1.5 X[1]1<=3.19 X[1] <= 2.69
entrop}ll = O.ggl entrop}ll = 0.;?5 entrop}1/ = 0.2;1 entroply = 0.1%252
samples = samples = samples = samples =
value = [63, 27] value = [38, 45] value = [39, 3] value = [78, 27]
X[0] <= 690.0 X[1] <= 2.795 X[1]<=3.72 X[1] <= 3.495 entrony = 0.0 X[1] <= 3.235 eniro l ~ 0.0 X[1] <= 3.465
entropy = 0.839 entropy = 0.954 entropy = 0.722 entropy = 0.986 sam Ijl)eys _ 2'1 entropy = 0.592 samp 12 g = 1 entropy = 0.811
samples = 82 samples = 8 samples = 25 samples = 58 Valuep — 21, 0] samples = 21 Valuep= [0, 1] samples = 104
value = [60, 22] value = [3, 5] value = [5, 20] value = [33, 25] ’ value = [18, 3] ’ value = [78, 26] \
X[0] <= 320.0 niro l — 0.0 entro ’({ X[1] <= 2.855 entrony = 0.0 X[0] <= 560.0 X[0] <= 510.0 X[1]<=3.73 X[0] <= 450.0 X[1] <=3.595 X[1]<=13.235 X[0] <= 530.0
entropy = 0.868 samplz g = 6 samp IZ <=1 entropy = 0.863 sam Il)gs _ 1'2 entropy = 0.961 entropy = 0.811 entropy = 0.932 entropy = 1.0 entropy = 0.485 entropy = 0.665 entropy = 0.912
samples = 76 Valuep= (6. 0] valuep ~ 1, 0] samples = 7 valuep= [0, 12] samples = 13 samples = 12 samples = 46 samples = 2 samples = 19 samples = 52 samples = 52
value = [54, 22] > value = [2, 5] ’ value = [5, 8] value = [3, 9] value = [30, 16] \ value = [1, 1] value = [17, 2] value = [43, 9] value = [35, 17]
_ / X[1] <= 2.68 _ X[2]<=1.5 _ X[0] <=590.0 X[0] <= 460.0 X[1] <= 3.475 X[1]<=3.54 X[0] <=790.0 _ l _ l X[1] <= 3.605 X[1] <=2.905 X[1] <= 3.365 l _ X[0] <= 730.0
esnfn?plz < =O'10 entropy = 0.855 esll;rn(l)plz < =O'10 entropy = 0.918 e;l;;?plz < =0'30 entropy = 1.0 entropy = 0.918 entropy = 0.503 entropy = 0.559 entropy = 0.988 e;;gp IZ S :0.10 esll;rn(l)plz < =O'10 :I;;OF@’S =01? entropy = 0.811 entropy = 0.871 entropy = 0.371 e;;gp IZ S =0'20 entropy = 0.881
P samples = 75 P samples = 6 P samples = 10 samples = 3 samples = 9 samples = 23 samples = 23 P P P samples = 8 samples = 24 samples = 28 P samples = 50
value = [0, 1] value = [0, 1] value = [0, 3] value = [0, 1] value = [1, 0] value = [11, 0] value = [0, 2]
’ value = [54, 21] ’ value = [2, 4] ’ value = [5, 5] value = [2, 1] value = [1, §] value = [20, 3] value = [10, 13] ’ ’ ’ value = [6, 2] value = [17, 7] value = [26, 2] ’ value = [35, 15]
X[0] <= 470.0 X[1] <= 2.905 _ X[1]<=2.935 _ X[0] <= 640.0 _ l _ l X[1] <= 3.485 / X[1] <= 3.64 X[1] <= 3.785 X[1]<=3.95 _ X[1]<=3.97 _ X[1] <= 3.01 l _ X[1] <=3.395 X[0] <= 690.0
entropy = 1.0 entropy = 0.828 esna;[rr;)pl}e] S :O'IO entropy = 0.722 esngrcl)p 12 S :O'IO entropy = 0.991 esngrcl)p 12 S :O'IO esnfn(l)pﬁ; S 20'20 esll;;(l)plz S :0'0 entropy = 0. 811 esll;;(l)plz S :Oéo entropy = 0.722 entropy = 0.949 entropy = 0.811 esnfn(l)pﬁ; S :0.10 entropy = 0.592 esna;[rr;)pl}e] S :OID.O entropy = 0.949 Es:grioﬁ)gs 2012 entropy = 0.592 entropy = 0.79
samples = 6 samples = 69 Valuep ~ 1. 0] samples = 5 Valuep= (1, 0] samples = 9 Valuep= [0, 1] Valuep= 2. 0] Valuep =10, 5] samples = Valuep (8. 0] samples = 15 samples = 19 samples = 4 Valuep= [0, 1] samples = 7 Valuep = 5. 0] samples = 19 Valuep= [14, 0] samples = 14 samples = 38
value = [3, 3] value = [51, 18] ’ value = [1, 4] ’ value = [4, 5] ’ ’ ’ value = [1, 3] ’ value = [12, 3] value = [7, 12] value = [3, 1] ’ value = [6, 1] ’ value = [12, 7] ’ value = [12, 2] value = [29, 9]
_ X[1] <= 2.57 l _ X[1]<=2.92 j \ _ l X[0] <= 690.0 X[0] <= 580.0 X[1] <= 3.565 l — j X[1] <= 3.825 l _ _ / X[1] <= 3.995 _ X[1]<=3.11 X[2]<=3.5 X — X[1]1<=3.97
entropy _0.0 entropy = 0.971 entropy _0.0 entropy = 0.887 entropy _0.0 entropy _0.0 entropy _0.0 entropy = 0.985 entropy = 1.0 entropy 0.0 entropy = 0.918 entropy _0.0 entropy _0.0 entropy = 0.989 entropy _0.0 entropy _0.0 entropy _0.0 entropy = 1.0 entropy _0.0 entropy = 0.811 entropy = 1.0 entropy _0.0 entropy = 0.857
samples = 1 samples = 5 samples = 10 samples = 59 samples = 1 samples = 4 samples = 2 samples = 7 samples = 2 samples = 2 samples = 9 samples = 6 samples = 3 samoles = 16 samples = 3 samples = 1 samples = 5 samples = 2 samples = 3 samples = 16 samples = 4 samples = 10 samples = 32
value = [1, 0] pie value = [10, 0] p value = [1, 0] value = [0, 4] value = [0, 2] P P value = [0, 2] P value = [6, 0] value = [0, 3] ple value = [3, 0] value = [0, 1] value = [5, 0] pie value = [0, 3] pie P value = [10, 0] P
value = [2, 3] value = [41, 18] value = [4, 3] Value [1, 1] value = [6, 3] value = [7, 9] value = [1, 1] value = [12, 4] value = [2, 2] value = [23, 9]
X[2]<=1.5 \ _ 1 X[0] <=350.0 _ X[1]<=3.735 l X[1] <= 3.585 _ X[1]1<=3.9 _ l _ _ X[1]<=3.22 X[0] <= 620.0 _ X[1] <= 3.945
entropy = 0.918 entropy _0.0 entropy _0.0 entropy = 0.873 entropy _0.0 entropy = 0.971 entropy _0.0 entropy _0.0 entropy _0.0 entropy = 0.811 entropy _0.0 entropy = 0.94 entropy _0.0 entropy _0.0 entropy _0.0 entropy = 0.946 entropy = 0.918 entropy _0.0 entropy = 0.906
_ samples = 2 samples = 1 _ samples = 2 _ samples = 1 samples = 1 samples = 1 = samples = 2 _ samples = 1 samples = 1 samples = 5 _ _ samples = 1 _
samples = 3 value = [0, 2] value = [0, 1] samples =38 value = [2, 0] samples = 3 value = [0, 1] | | value = [1, 0] value = [0, 1] samples =8 value = [2,0] | | Samples =14 value = [0, 1] | | value=[1,0] | | value=[5, 0] samples =11 samples = 3 value = [1, 0] samples = 28
value = [2, 1] ’ ’ value = [41, 17] ’ value = [2, 3] ’ ’ ’ value = [6, 2] ’ value = [5, 9] ’ ’ ’ value = [7, 4] value = [1, 2] ’ value = [19, 9]
/ \ _ / X[0] <=390.0 — X[0] <= 750.0 / X[0] <= 1730.0 j X[0] <= 630.0 X[0] <= 660.0 l _ l _ X[0] <= 650.0
entropy _0.0 entropy _0.0 entropy _0.0 entropy = 0.856 entropy _0.0 entropy = 0.811 entropy _0.0 entropy = 0.971 entropy _0.0 entropy = 0.994 entropy = 0.881 entropy _0.0 entropy _0.0 entropy _0.0 entropy = 0.84
samples = 1 samples = 2 samples = 1 - samples = 1 = samples = 3 = samples = 3 _ _ samples = 1 samples = 2 samples = 1 _
value = [0, 1] | | value = [2, 0] value = [0, 1] samples = 57 value = [1, 0] samples = 4 value = [3, 0] samples = 3 value = [0, 3] samples =11 samples =10 value = [0, 1] | | vale=[0,2] | | value = [, 0] samples = 26
’ ’ ’ value = [41, 16] ’ value = [1, 3] ’ value = [3, 2] ’ value = [5, 6] value = [7, 3] ’ ’ ’ value = [19, 7]
l X[1] <= 3.395 _ / X — X[0] <= 640.0 \ — X[0] <= 550.0 X[0] <= 680.0 X[1]<=3.2 l _ X[0] <= 610.0 X[2]<=3.5
entropy _O'O entropy = 0.87 entropy _1'0 entropy _O'O entropy = 1.0 entropy _O'O entropy = 0.811 entropy = 0.863 entropy = 0.954 entropy _0'0 entropy = 0.65 entropy = 1.0
samples = 2 _ samples = 2 samples = 2 _ samples = 1 _ _ _ samples = 2 _ _
value = [2, 0] samples = 55 value = [1, 1] value = [0, 2] samples = 4 value = [1, 0] samples = 4 samples = 7 samples = 8 value = [2, 0] samples = 18 samples = 8
’ value = [39, 16] ’ ’ value = [2, 2] ’ value = [3, 1] value = [2, 5] value = [5, 3] ’ value = [15, 3] value = [4, 4]
X[1]<=3.385 \ _ X[0] <=590.0 \ _ X[0] <= 500.0 l _ l X[0] <=740.0 X[2]<=3.5 _ X[1]<=3.735 l _ X[1] <= 3.475
entropy = 0.884 entropy _0'0 entropy = 0.918 entropy _O'O entropy = 1.0 entropy _O'O entropy _O'O entropy = 0.918 entropy = 0.985 entropy _0'0 entropy = 0.881 entropy _O'O entropy = 0.985
samples = 53 samples = 2 samples = 3 samples = | samples = 2 samples = 2 samples = 4 samples = 3 samples = 7 samples = 1 samples = 10 samples = 8 samples = 7
valie = [37, 16] | | Yalue=1[2.0] value = [2, 1] value = [0, 1] valie = [1, 1] | [ Yale=12.0] value = [0, 4] value = [2, 1] value = [4, 3] value = [1, 0] value = [7, 3] value = [8, 0] value = [4, 3]
X[1] <:_3'125 entropy = 0.0 entropy = 1.0 entropy = 0.0 entropy = 0.0 entropy = 0.0 entropy = 0.0 entropy = 0.0 X[0] <:_610'0 entropy = 0.0 X[1] <:_3'635 entropy = 0.0 entropy = 0.0 X[1] <i 3.81
entropy = 0.867 B B B B B B B entropy = 0.918 B entropy = 0.954 B B entropy = 0.918
_ samples = 1 samples = 2 samples = 1 samples = 1 samples = 1 samples = 2 samples = 1 = samples = 1 = samples = 2 samples = 1 =
samples = 52 lue = [0, 1 lue = [1, 1 lue = [1, 0 lue = [1, 0 lue = [0, 1 lue = [2, 0 lue = [0, 1 samples = 6 lue = [0, 1 samples = 8 lue = [2, 0 lue = [0, 1 samples = 6
value = [37, 15] value = [0, 1] value = [1, 1] value = [1, 0] value = [1, 0] value = [0, 1] value = [2, 0] value = [0, 1] value = [4, 2] value = [0, 1] value = [5, 3] value = [2, 0] value = [0, 1] value = [4, 2]
X[1]<=3.03 X[1]<=3.18 X[1]<=3.135 \ _ X[0] <= 550.0 \ — X[0] <= 670.0 l _
entropy = 0.696 entropy = 0.918 entropy = 0.971 entropy _0'0 entropy = 0.65 entropy _O'O entropy = 0.722 entropy _O'O
= = o samples = 1 samples = 2 o samples = 1
samples = 16 samples = 36 samples = 5 value = [1, 0] samples = 6 value = [0, 2] samples = 5 value = [0, 1]
value = [13, 3] value = [24, 12] value = [3, 2] ’ value = [5, 1] ’ value = [4, 1] ’
X[0] <=590.0 l _ X[0] <= 520.0 X[0] <=510.0 _ X[1]<=3.175 / \ _ X[1] <= 3.595 l _
entropy = 0.918 entropy _O'O entropy = 0.994 entropy = 0.795 entropy _O'O entropy = 0.811 entropy _0'0 entropy _O'O entropy = 0.918 entropy _O’O
_ samples = 7 _ _ samples = 1 _ samples = 1 samples = 5 _ samples = 2
samples = 9 value = [7, 0] samples = 11 samples = 25 value = [0, 1] samples = 4 value = [0, 1] value = [5, 0] samples = 3 value = [2, 0]
value = [6, 3] ’ value = [5, 6] value = [19, 6] ’ value = [3, 1] ’ ’ value = [2, 1] ’
X[1]<=3.0 l — _ X[1] <= 3.135 l X[1] <= 3.365 1 X[0] <= 540.0 _ X[1] <= 3.685
entropy = 0.592 entropy _O'O entropy _O'O entropy = 0.991 entropy _0'0 entropy = 0.845 entropy _O'O entropy = 1.0 entropy _0'0 entropy = 1.0
= samples = 2 samples = 2 = samples = 3 - samples = 2 _ samples = 1 _
samples = 7 value = [0, 2] value = [0, 2] samples = 9 value = [3, 0] samples = 22 value = [2, 0] samples = 2 value = [1, 0] samples = 2
value = [6, 1] ’ ’ value = [5, 4] ’ value = [16, 6] ’ value = [1, 1] ’ value = [1, 1]
entropy = 0.0 X[2] <_= = entropy = 0.0 X[0] <=_670'O X[0] <=_590'O entropy = 0.0 entropy = 0.0 entropy = 0.0 entropy = 0.0 entropy = 0.0
_ entropy = 0.918 _ entropy = 0.985 entropy = 0.792 _ _ _ _ _
samples = 4 = samples = 2 _ _ samples = 1 samples = 1 samples = 1 samples = 1 samples = 1
value = [4, 0] samples = 3 value = [2, 0] samples =7 samples = 21 value = [0, 1] value = [0, 1] value = [1, 0] value = [0, 1] value = [1, 0]
’ value = [2, 1] ’ value = [3, 4] value = [16, 5] ’ ’ ’ ’ ’
X[0] <= 450.0 & _ X[1] <= 3.155 l _ X[1] <= 3.295 X[0] <= 670.0
entropy = 1.0 entroply _0’10 entropy = 0.918 entroply _0’10 entropy = 0.918 entropy = 0.503
samples = 2 samplies = samples = 6 samplies = samples = 12 samples = 9
value = [1, 0] _ value = [1, 0] _ _
value = [1, 1] value = [2, 4] value = [8, 4] value = [8, 1]
/ \ — _ X[0] <= 550.0 X[2]<=1.5 X[0] <= 570.0 l _ X[1]<=3.29
entropy _O'O entropy _O'O entropy _O'O entropy = 1.0 entropy = 0.65 entropy = 1.0 entropy _O'O entropy = 1.0
samples = 1 samples = 1 samples = 2 _ _ _ samples = 7 _
value = [1, 0] value = [0, 1] value = [0, 2] samples = 4 samples = 6 samples = 6 value = [7, 0] samples = 2
’ ’ ’ value = [2, 2] value = [5, 1] value = [3, 3] ’ value = [1, 1]
_ X[1]<=3.165 _ X[0] <= 560.0 l X[1]<=3.33 _ _
entropy _0.0 entropy = 0.918 entropy _0.0 entropy = 1.0 entropy _0.0 entropy = 0.811 entropy _0.0 entropy _0.0
samples = 1 samples = 3 samples = 4 samples = 2 samples = 2 samples = 4 samples = 1 samples = 1
value = [0, 1] value = [2, 1] value = [4, 0] value = [1, 1] value = [0, 2] value = [3, 1] value = [0, 1] value = [1, 0]
entropy = 0.0 )ei[g:: 2310 (()) entropy = 0.0 entropy = 0.0 gg;(]) <::3'13 %) entropy = 0.0
samples = 1 samII;lZs _ 2 samples = 1 samples = 1 samII))lZs _ 2 samples = 2
value = [1, 0] value = [1, 1] value = [1, 0] value = [0, 1] value = [1, 1] value = [2, 0]
entropy = 0.0 entropy = 0.0 entropy = 0.0 entropy = 0.0
samples = 1 samples = 1 samples = 1 samples = 1
value = [0, 1] value = [1, 0] value = [1, 0] value = [0, 1]

X[2]<=12.5
entropy = 0.903

samples = 320
value = [218, 102]

X[1]<=3.955
entropy = 1.0
samples = 12
value = [6, 6]
_ X[1] <= 3.835 X[0] <= 770.0
e;;;?plz < :0'60 entropy = 0.954 entropy = 0.811
Valuep= (6. 0] samples = 8 samples = 4
’ value = [5, 3] value = [1, 3]
entropy = 0.0 )ér[l(t)r]:: 19{) (()) entropy = 0.0 entropy = 1.0 entropy = 0.0
samples = 4 samPIZs _ 6 samples = 2 samples = 2 samples = 2
value = [4, 0] Valuep= 3. 3] value = [2, 0] value = [1, 1] value = [0, 2]
X[0] <= 760.0
entropy = 0.0 ent[ro]py —0.971 entropy = 0.0
samples = 2 samples _ 5 samples = 1
value = [0, 2] value = [2, 3] value = [1, 0]
X[1] <= 3.57
entr[og)y =0.918 entropy = 0.0
_ samples = 2
samples = 3 lue = [0. 2
value = [2, 1] value = [0, 2]
entropy = 0.0 entropy = 0.0 entropy = 0.0
samples = 1 samples = 1 samples = 2
value = [0, 1] value = [0, 1] value = [2, 0]




